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1.

SECTION—A | Wi—aA
GENERAL KNOWLEDGE AND LOGICAL KNOWLEDGE
AW T UF Al® T

Direction (Q. Noa. 1 and 2) : Each question
given below is based on the following data :

(1} A studies Physics, Chemistry and
English.

(2) B and C study Chemistry and
Mathematica.

{3 D and A study Biology and Home
Science.

Which smdent zrmudies the maximum
number of subjects?

fiEn (ov "o 1 &l 2) : = B W o= 0w
Frefefian st o smufra &

(1) A ey, Tea-Te A ST T R
2] B¥n C - T iE g g

3 D s A sia-fEm aa Te-fiem wa
¥

L. ®-w el afteas e e §7

USRS

{a) D
(A} D By
B A
c
&0 <)
o) B
D) B

fkas e e - ¥
3. How many students are studying o s e b

Chemistry? Ay 1
(A} 1 B 2
| 2 i) 3
< 3 D} 0
D) o

fEm (uw wie 3 9 8) : Fo=fafian gen w g
e wEl & R e

(1) @A, B C D E® FUF &3

Directlon (Q. Nos. 3 to 5) : Read the
following informmtions and answer the
questions :

{1} Six friends A, B, C, D, £ and F are
sitting in & closed circle facing the
CENe.

{2 E is to the left of L.
3] Cis between A and B
{4 F is between E and A

% A oo 32 11
{2 E, D% aw s #)
3 CATBEFTL
4 F,EqA®mal

. C% aEt A F &= 27

3. Who is to the left of C7
A {A) A
B E B E
<y o <) D
D) B o B
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4. E ig sitting between

|A) Dand F
B} FandC
[C] Cand D

D] Aand B

. Who is sitting right to A?
A D
B F
(& E

D) ¢

. In thiz question, two statements are
followed by two conclusions. You have
to consider the two given statements as
true even if they seem to be absurd and
select YOUT answer,

Statements :

I.  All managers are clerks.
. Some clerks are peon.
Conclusions :

(1} Mo manager iz peon.

{Z] Some peons are MENAESTS.

(Al Only conclusion (1) follows
(B} Only conclusion (2] follows

[C] Neither conelusion (1] nor comclu-
sion {2} follows

(D} Bath of the conclusions (1) and (2)
fiol owar
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7.

9,

Seen throuph a mirrer, the arms of a
clock show 2:30. The actual time is

{A) 6:30
Bl 3:30
Ic) 9:30

D) 6:10

Statements :

I. The prices of vegetables have fallen
during the last few days.

[I. There has been considerable
improvement in  guality of
vegetables produced.

Choose the correct anawer.

[A] Statement [ i3 the cause and
statement I is the effect

IB) Statement I is the cause and
statement I iz the effect

[T} Both the statements [ and I are
independent causes

[0} Both the stetements | and [ are
effects of independent causes

Which of the ollowing represents
‘stone, plant and fire?

m © 0

D)
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Direction (Q. Nos. 10 to 12) : Study the
diggram carefully amd answer the questions :

10. Which of the

11.

2y =2 Youths in
a village

0O — Unemployed

O = Educatad

following numbers
represents  unemployed educated
youths in the village?

4

B 5

<) &

oy 7

Uneducated unemployed youths in the
village are represented by

i 4

18] 1

cy 7

B 2

Which of the following numbers
represents  the  educated employed
youths in the village?

(A) 3

B) 4

(=

o 7
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13. Centigrade and Fahrepheit scales give

1%.

15.

same reading at

(A o°

(B) -48°

<y 400

D) None of the abowve

Kathakali dance belongs to which ane of
the following States?

{A] Maharashira

(B] HKerala

(C) Tamil Nadu

D) Gujarat

The highest mountain peak of India is

(A} Mount Everest

(B) K-2

(C) Kanchenjunga

{D] Mone of the above

13-PARSK/[2-A
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16. Which of the following States is in the

17.

18.

19,

south of Madhya Pradesh?

{A) Rajasthan

[B] Gujarat

{C] Chhattisgarh

(D} Maharashira

Which of the following rivers originates
from Madhya Pradesh and flows
through Madhya Pradesh, Maharashtra
and Gujarat?

(A} Narmada

{B] Chambal

{C] Betwa

D) Ken

State animal of Madhya Pradesh is

14) Cow

(B} Swamp deer

IC) Tiger

(D} Lion

The zonal office of Weat Central Railway
is situatsd at

4] Indore

(B) Bhaopal

{C] Jabalpur

(D) Gwalior
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20. In Madhya Pradesh, the Fossil National 20. W wi 8 wifvE dvEw o Pl G @
Park is situated in which of the fea ) d fEm 37
following districts?

(A} Dindori o el
[B) Ratlam o B
(C) Uijain c) =27
(D) Bhopal (D) ST
21. The number of Parllamentary Constitu- 21. WO W A wrE oy fee ot £7
encics in Madhya Pradesh is
(A 27 iy T
(B) 28 B 28
) 29 € 29
(D} 30 D} 30
22. Who among the following kings built the 22, afEt sy @A 4 Bem o 3 wmam 7
Sanchi Stupa?
(&) T s
iA] Raja Bhoj
(B) Ashoka the Great (B} ST T
[C} Chandragupta Maurys (c) =wzh Al
(D) None of them oy il &
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23. How many sites in Madhya Pradesh 23. T wiv 1 g e ot w s

are declared “World Heritage Sie' by h@mm‘tmﬂﬂﬁnfﬁmm?
UNESCO? :
A 3 =
B 4
w4 =
[
Q s i~ 3
(D) TTEF T H =Y

(D} None of the above

24. Which of the following dams is 4. A o P & 4 g W

comstructed on Son river? o #7

(&) Mahi (A} TE

(B} Pratap Sagar (B} Ham wITW

[C} Kolar [C) HiEN

(D] Ben Sagar D) % arR
25. Who was the Chief Minizter of Madhya 25. VW gEfeE ¥ W owE WW w

Pradesh at the time of Bhopal Gas e # 47

Tragedy?

(A) Digvijay Singh %) R He

(Bl Uma Bharti |B] = WAt

€] Arjun Singh (¢} s e

|D) Shiv Eaj Singh o P R

13-PARSK/S2-A 10



Who raized the slogan, “Freedom s my
birthright and [ shall have ™

(A} Bal Gangadhar Tilak
{B) Mahatma Gandhi
(C) Lala Lajpat Rai

(D) Subhas Chandra Bose

“Life iz full "of sufferings and
unhappiness.” Who said this?

(&) Bhagawan Buddha
(B] Bhagawan Mahawvira
(C} Ashoka the Great

(D) Mahatma Gandhi

The first woman Chief Minister of a
State in India was

{A) Mayavati
(B} Sucheta Kripalani
(C} Jayalalitha

0] Hone of them

When was Swami Vivekananda borm?
(A) 12 Januery, 1864
(B) 12 January, 1853
(C) 12 January, 1873

() 12 January, 1863

13-PARSE/2-A 11
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30. In India, where was the [rst Metro Rail

a1.

3.

started?

(A) Kollata

(B} Mumbal

[C} Mew Delhi

(D) None of the above

Who wes knowm as the ‘Tiger of
Mysore"?

(A} Haider Ali

(B) Akbar

(C] Tipu Sultan

(D) Mone of them

Who was the founder of Arya Samaj?

{A] Vivekananda

(B] Swami Dayananda Saraswath

(€] Lala Lajpat Rei

() Bepin Chandra Pal

13-PARSK/2-A
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33.

as.

If PxQ means P is brather of @, P+ ()
means F i3 son of Jand P - Q means P
ia sister of @, then which of the following
relations will show that Q is maternal
uncle of P?

A) PxR+0Q

B P+R-Q

() R-P+0Q

D xR+ P

Pointing to & woman s man says, “Her
mother's mother 18 the mother of my
father”. How is the men related to thaet

Wormany
(A} Mephew
(B} Son
(€} Maternal cousin

(D] Uncle

Which of the following diagrams depicts
the relationship among cats, pet
animals and dogs?

rBhG
ECJ_
O O

@} &

13-PARSK/2-A
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A PxxRE=+Q
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36. Study the given statement and select
the alternative which best represents
the statement :

“Ravi iz illiterate,
cannat write”

therefore he

Thus we can say that
(A} only some of the literate persona
CAf Write

(B) all illiterate persons cannot write

[€) some literate persons also cannot

write

(D) None of the above

Direction (Q. Nos. 3T and 38) : In cach
question given below, & statement is followed
by two arguments numbered | and 11, You
have to decide which of the arguments iz a
‘strong’ argument and which ia a ‘weak'
argument and then select the correct
alternative,

37. Statement
Should political parties be banned?
Arguments
I. ¥esa, it ia necessary to teach a
lessen te the politicians.
. Mo, it will l=ad to an end of the
democracy.

(4) Only argument | is strong

{B) Chmly argument Il is strong

{C] Either ergument [ or argument 11 ia

strong

{0} MNeither argument [ nor ergument [1

is strong

13-PARSK/[/2-A
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38, Statement :

Should India have no military force
at all?

Arguments :

. Mo, other countries in the world
do not believe in non-violence,

II. Yes, many Indians
non-vialence,

befieve in

(&) Only argument I is strong

{B] Only argument Il iz strong

(€] Either argument | or argument I is
strotg

(D) Neither argument I nor argument I1
iz strong

Replace the question mark (7] with
correct word :
Farmer : Plough :: Author : 7

(A} Writing
(B] Brush
(C] Book
(D} Pen

. Statements :

. Water boils at 100 *C.
iI. Water freezes into ice at O °C.

Conclusion .

Water boils at low pressure and low
temperature,

The conclusion drawn is

(A) true
(B] [aize

(C) either tnie or false

[0} irrelevant

13-PARSK/3-A
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SECTION—B / wii—B
MENTAL ABILITY AND MENTAL APTITUDE
difew v g nEfs il

41. One morning Ram and Shyam were

talking to each other face to face at a
crossing. If Shyam's shadow was
expctly to the left of Ram, then which
direction was Ram facing?

A} East

(€] North

(0] South

Some boys are standing in a circle
facing to the centre. Bhim is to the
immediate left of Vijay. Rajesh is in
between Bhim and Mahesh. Jivan is in
between Vijay and Naren, Who is to the
lzft of Mahesh?

iA) Rajesh

(B] Maren

(G} Vijay

{D) Bhim

13-PARSK[/2-A
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41, U U T 3w gt W oA e

42,

BLOOE O W A # W 4| W e
o T & JfF Al wF 9, @ T S
R B g @y

A

By

) I

D)

¥ wEE 0% u 4 wfipe =g b o,
e & i et i 3| i, of v b
& ma § ¥ sfem, e v =30 % e 1 R
Erale i ok

&) i

B A

[cy fimm

D)
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43, What will replace 7' m the following?
Moon : Satellite :: Earth : ?

(A} Bun

(B] Planet

IC) Solar system

(B} Star

44, What will replace ** in the following 7
Ocean : Water :: Glacier : ?

[A] Refrigerator

B) Ice

(€1 Mountain

(D) Caye

48. If A=x, E== Oa+ and U=+ then
taking the numerical value of the
remaining letters as  per English
alphabet order, the correct option
for SETUH ia

) S

B) &

e R

D) 8

13-PARSK/2-A
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43, B d ' = v sy

SR - IO o gl
(A
iB) ™™
(C) Hroee

o}

a4, B 3 ' &) W w SmENY
mhﬁﬁl?ﬁﬁm?

(&) ez
(B) 7%
(C) =%

) TH

45. TR A=x, E=-, O=«+ @0 U=+ B, 7
M owEdl W Wi AedaErEn e

o 99 T SETUH 71 7t T

W s

B} &

e 7

o 8

|FT.0O.

kil el




46. Find out the wrong term from the 46. = & & 7om w W R
fallowing :

‘5,9, 17, 35, 65, 129
s, 9, 17, 35, 65, 129

65
- )
(B) 35 B} 35
(C] 129 ) 129
D} @ o @
47. Find the missing number of the given 47. e anft fi g e T R
series

19, 2, 38, 3, 114,48, 7
19, 2, 38, 3, 114, 4, 7

(A) 228 ¢ i
(B] 256 R e
G5 i) 352
(D) 456 Tt

48, Find the next number in the following - 48, T & sreh s wm il

1,29 4,25 6 7 1,294,256, 2
(a) 51 (A) 51
B 49 B 49
(@ 50 (€] 50
(D) 47 (D} 47

13-PARSK/2-A 22



4%, Find the missing number of the given

51.

series -

1, B, 9, 54, 25,216, 49, 2

(A) 64

|) 729

€] 512

D) Bl

. What will come pext in the given series?

21, 62, 23, 60, 25, 58, 7
iA) 29
i8] 56
) 27

0] 60

Find oput the wrong term from  the
Et;-lluwing i 2
ABC, DGJ, HMR, NTA, SBK, ZKV
1Ay DG
[B] HME

(@ NTA

(D] SBK

13-PARSK/2-A 23

49, T i £ Tw wem Tm dif

1, 8, 9, 64, 25, 216, 49, 7
(Al &4
B 729
C1 512
D) 81
50. T anft F srren wR w=m A7
21, 62, 23, 60, 25, 58, 2
iA) 29
(B8] 56
(C) 27

M 60

51, e & 2 e 92 1 S

ABC, DGJ, HME, NTA, SBE, ZKV
() DGJ

(B) HMR

[ P.T.O.

i s e o e ——_ 1 W
T a4 -l

—




52. Find the missing letters in the
following :
BCFH, _7 . HILN, KLOOQ, RORET
A} MNQS
IB) EFIK

(€ NOPQ

) PQTV

E3. Find the missing term in the following :
F3X, H7U, Ji5R, L310, _7

Al MABL

(B) N44L

[C] N63L

D) Na4M

§4. Complete the given lettér series ©

J_  HL__K_TH__LKJI - LLK

{4) HILIL

(B ILJLH

i€} LJLHI

{D) JLHIL

13-PARSK/S2-A
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52. fre1 % T waraE W S

BCFH, _¢ , HILN, KLOGQ, NORT

A} MNOS
{B] EFIK
(€] NOPQ

D} POTV

53. ﬂﬁ;?ﬁﬂrmﬂﬁm:

F3X, HYU, JI5R, L31Q, _?

{A) M4eL
(B Na4L
&) NeaL

(D) N4aM

54, & . dvil = g fifa

J_HL _K_H__LEJ _

{A) HILJL
(B) IJLH
{C) LJLHI

D) JLHIL

LLE



55.

In the following letier series, some of
the letters are missing which are given
in that order as one of the aiternatives
below it. Choose the correct alternative

a__.cn_ beaab o beanbc  ab

[A) bacaa

& aecha

{C} bcacc

(D) cabba

In a certain code language if MICHAEL
15 coded as JGBHEGO, then i thas
code, AMERICA will be written as

A} XKDRJED

{B) XKDRKED

[C] XKDRJEC

D) XKERJED

In a certain code language if CRICKET
iz coded as 3923564, ROCKET is coded
as 913564 amd KETTLE is coded as
564406, then how is LITTLE coded in
that language?

A} 204406

(B} 024406

[C) 020446

D) 200446

13-PARSK/2-A
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55. frafafian e ol § wo s g B e

T wH F avl F A R v e s e d
ﬁﬂ?ﬂﬁlhﬂﬁﬁﬁ’qﬁﬁﬁr.

a__ca__bcaab _ a__ beaabc __ ab
|A) bacaa
8] aacha
[C] beacc

(D) cabba

56, afz fl fafte @2 wn # MICHAEL #

JGBHBGO fam @ ¥, @ ol 42 wow &
AMERICA 91 Torsn =

A) XKDRJED
B} XKDRKED
IC) XKDRJEC

D) XKERJED

57. oF fafim 37 wm ¥ ¥} CRICKET ¥

3923564, ROCKET % 913564 #wl
KETTLE #i 564406 form arm 3,

LITTLE ¥ 30 §= wm # 77 foran st
(A} 204406
{B] 024406
[C) 020446
D) 200446
[ P.T.O.

T

e —— .

e —— L

s ——



5B. II 71683 means G’RE-!IT, then Toa4 58. ﬁﬂ' T4683 =1 3“:. GREAT il I_‘Ff TE8L F1

means ﬂﬁg

el [A) GEAR
{(B] HEAR (B] HEAR
] S {C] REAG
D] GAER ke

§9. How many squares are thers in the

following figure? 50, e fE i wl it
s F

[A) 13 [A) 13

(B} 14 B} 14

=) 16 I} 16

o 13 (D) 15

13-PARSK/2-A 26
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50. How many triangles dees the following
figure contain?

w1
B 10
Ic) 6

) 12

61, In a certain code lenguage, 479" means

fruit s sweet’; 248" means Very sweet
voice” and 637" means ‘eat fruit daily”.

Which digit stands for 98" in that coded

language?
A 7
B 9
[ 4

D) Cannot be determined

632. Choose the set of numbers from the
four alternatives which is similar to the

given act :
{6, 13, 22)

A) (6 13, 27)

B 110, 16, 28)

€ (11, 18, 27)

) (13, 19, 27)

13-PARSK/2-A
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50,

Bi.

2 i o 1t o g 7

Al 11
| 10
IT) &

o 12

el ffimr 52 v &, 979" &1 2 fruit is
sweet, 248" ¥ #d very sweet volee'
W 637" FT I cat fruit daily' ¥, A W
¥z i e e W ad Ge0 B

Ay 7

B 9

) 4

D) T T Fm o wEan

= e 1 @ 3 3 e W g

T o it = & S A (a) B
{6, 13, 22)

Ay (6, 13, 27)
® {10, 16, 28)
) (11, 18, 27)

D) (13, 1%, 27]

| PT.C.

e




63. Choose a word from the given 63. fod m fiwest 4 % ow = g W fF A

alternatives that belongs to  the arfam weEl & Frefitam g @ s 2
following group of three reiated words :

, e,
Jute, Cotton, Woal * i
{4) Terylene (A Ol
B] Silk B) fe=
{C] Rayon )
Ry Milen D) AHEA
64. Choose a number from the pgiven )
alternatives that belongs to  the 64. 7 7 fmedt # 8w wen g Ak dR
following group of three related e Al & Fefafiaa g & e 2
numbers :
23, 37, 49
25, 37, 49
A} 61 8l
B} 58 iB) 36
5 &0 c) 80
D} &6 D) &6

13=-PARSEK/S2-A 78



65. 12% of 25 students are good in
Mathematics. How many are not good
in it? ' '

Ay 18
(B) 47

ic} 22

D} 24

66. The two consecutive integers, between
which g lies, ars

(Al 5 and 6
(B)] O and 1
(&) 7 and 8

(D} & and 7

67. What number should come in place
of ¢ mark?
25x43+5=7
(A} 215
{B) 220

(©) 205

Dy 251

13-PARSK/2-A
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65. s fyofhd 4 4 12% Famdf nfte 4

&, A P el et vl T 2
A 18
B) 47

(Cy 22

D) 24

ﬁ.iﬁ{ﬂm@fmaﬂ%ﬂaﬁgmt?

(A] 5746

(B) O™ 1

(C) 7 a8

(D) 6#a7

s7. Fs v & v W e s i ?

25x434+5=?

(A 215

B) 220

[C] 205

[ 251

[PT0.

—— e .

il




6B8. Manish ranked 168ih from the top and

2Gth from the bottom among those who
pazssed the examination. Six students
did not participate in the examination
and five failed. How many students

. T W R TE e E A

16af w4 @ 200l T 6 Fraiat 3 ol
ff & T 5 gl @) e d g B
Ferernd] &7

were there in the class?

(A) 40
(A 40
B 55 1
B) 55
: (€1 s0 :
() 50 f
D] 49
D) 49

69. A s B o A 50% aftm Y, A B |

69, A's income is 50% more than Bs. How B g A 8 e ohm a3

much percent s B ncome less

then A's?

(&) 3%
[A) 33%

B 333%
(Bl 333% "
€ 331% e 331%
18] 33%% ) 333%

T0, =A-d4f FE 6 % firn v W AT

‘EELE

70. Which number is on the face opposite

By 2 (B 2
© 3 i1 3
m 4+ m 4

13-PARSK /2-A 3o



Ti.

SECTION—C | wii—C
SCIENCE AND SIMPLE ARITHMETIC
W @ am s=nfia

Select the wrong staterment.

(A) When water ia converted imto ice
at 0 °C, its velume decreases

(Bj Glycerol iglycering) is an alcohol
(Ci Glass is not a true solid

(D) Photas is is a
reacton

chemical

Amoeba is a

(A) unicellular plant

B) unicellular animal

(C} amall insect

(D) type of small fish

Which of the fallowing is a conventional
source of energy?

A] Sun

(B} Wind

(€} Water

(D} Coal

13-PARSE[/2-A 32

T1. T wHE W w9 wif)

(A} “qﬁoeﬂﬂlﬁimmt.'#
ek W e amh b

B fewle (Ferda) o gl R
(c) wta aumdn: 2w 7 B

(D) THRW-FYEN UR TR W OEAteE
FafEm &

72, wd
(A} WEETHTR TRy
(B) uhEiE o
() wg %

B = =N F o g

73. = 3 8 Sa-m s = s @ b
w
(B) &g
) ==

(D) Ereen

[PT.O.

e
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74, Sclect the amphibian among
following.

(A} Snake
(B)] Dog
€] Frog

| Earthworm

75. Baking zoda iz
(A] sodium chlioride
i8] sodium hydroxide
{C] sodium capbonate

(D sodium bicarbonate

T6. Brass is an elloy of
(A} copper and aluminium
(Bl aluminium and zinc
(€] copper and zinc
(D) copper and tin

13-PARSK/2-A

the
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4. = 8 e F1 g

T5.

T6.

[A) ®ig

= Ll

[c) Hew

(D) g

wH F Hm

(4] THiiem TS

(B) #ifzm amgiege

() wifEm FmEiE

(D) i gt

e e = fosurg @

(A} wiw T ey

B It G
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7.

13-PARSK/2-A

» Which is not a star among

Might blindness occuss due to the
deficiency of which of the following?

{A) Vitamin By,
(B] Vitamin E
Yitamin A

Vitamin C

« Which of the following is not & part of

ower?

(A} Corolla

(Bl Calyx
(C) Petiole

(D) Androecium

Which of the following is
non-crystalline form of carbon?

the

(A) Diamond
(B] Graphite
(C) Coke

(D} Fullerene

the
follwing?

[A) Sun
(B} Sirlus
[C] Polestar

(D) Venus

37

77. Wt P i et & e AR
1) Refa By,
B feiE E
(c) Rt A
Dy Feim c

. T @ R w7
[A] =T
(B) =mrE
[c) §d

D) gEm

79, B= A0 T - v f afEwdm sEe
8

{A) dim
B) TemE
[C) ®®

D) gerb=

s0. T 3 3 ¥ v T
w owl
(B) T=re
(C) Y

D) ¥R

[BT.0.




Bl.

If the numerator of a fractlon is
increased by 12% and its denominator
is reduced by 2%, then the fraction

becomes g The criginal fraction is

W 3
@ 2
() g
o 2

The number of terms, which are squally
divisible by 3 and 4 up to 200, is

(A
1=

18

ic) 16
D) 15

Vulgar fraction form of 10036 is
A 1053

ln%

m—ﬁLﬂ
m%ﬁ'ﬁ

The value of

[ 0-125*.-0-{!2.? ] :l
0 520-5+0.09-0-15

(B)

<y

D)

(Al 008
(B) 02
[c) 08
o 1

13-PARSK/2-A
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Bl.

A% Bl im0 AT 129 w91 o A
ﬂﬂﬁm%mﬁﬁmmmgﬁm

L CRECE

(A
2

1<

Elin olk SR Ak

{n]]

200 7% 3 T 4 @ T =W 4 ey wE
e R

1)
B 17
IC) 16
D) 15

18

10 036 =1 @y firg w9 %
1t:r§,;!,E

u}%

"]'E%
mﬁ%

[ 0-125+0-027
0-5x0-5+0-08-0-15

(&)
(H)
€}

@)

)ﬂiwﬂt

(A) 08
B) 02
€y o8

o] 1

& rearEms



85. In Roman system of numbers, M 8s. =1 ) T vefy 4 M fefm w

represents
A} 500 il
B} 1000
(B] 1000
& b €} 100
30
0y a0 ®

; & wEE AE A :
86. The difference of the place values of 86. 278564083 3 il 8 PR

both of the 8's in 278564083 ia t

" 4 (A) 4

B) 799912 (B) 799912

(C) 7999920 (C) 7999920

(D) 799920 D 799020

87. In the magic square 87. mﬁﬁ
18 | 11 | 16 18 11| 16
13| Al ¢ i3l Al C
g |19 ] 12 g | 18] 12
)

the respective values of A, B, C are

[A) 14, 1
(B3, 1
) 47, 1

o 15, 1

13-PARSK/2-A
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4,

3,

4,

17

3

14

17

39

d 4 B C%am i, won:

[A) 14, 15, 17

(B) 17, 14, 15

) 17, 15, 14

D) 15, 1%, 17

| B.T.O.




g8. The least prime mumber is B8, T B are W §

(a) 1 W 1
B 2 B 2
© 3 () 3
o 5 o 5
89. Arrange the prime factors of 1720 in 89. 1739 & W= PEEEE & Egd @A °
ascending order, The difference between % T e e § A
fwo consecutive prime factors is T
A} 6 Ay 6
B 5 B 5
[ 3 ] 3
o) 2 4
90. 15-{-RU -T2+ A5 (-JYx|-B] is 90. 15-(-JfF =7 -3+ Y5+ -3 =|-0)] TR
equal 1o L]
23 23
Al = o
W 15 ) 15
15 13
=] 23 {1=] 23
IC] 15 <) 15
aea 363
Dy ——— i
(o2 33 ) =

13-PARSKf2-A 40



91. The smalleat fraction from the fractigns o1. Frefeitm fed

6 13 15 19 5 6 13 15 19 5
11" 18" 22" 36 6 11" 187 22" 26" &
iz § & wag g im d
19 1%
A} 36 {A) EE
5 5
(B} 5 Bl i
] ]
e} T IICI 1i
i3 13
5] ] : o
92, The smallest rational number is 92, F=en oftm o= @
0 0
(B 1 B 1
Cp -1 [cy -1
(D) Met determinable D) T T W T R
93, If %-% is expressed as a decimal, 93, qﬁ%r%ﬁmﬂﬂﬂﬁﬁﬂﬁﬁmm,
it will represent a it g Frefm woft &
[A) ierminating decimal Al i T
(B] non-terminating repeating decimal B el g T W

[} nan-terminating nan-repeating

HEEEE EYHER T
decimal e g

(D) Mone of the above o) wofw § & =

13-PARSK/[2-A 41 | P.T.O




94, The value of (771 -8~V =31 =41t

95.

is
ia] 68
iB) 44
iC] 56

D} 12

The leasi number, which when
multiphed to 3400 gives a perfect cube,
is

() 3
B 4
© 5

oy 7

96. [10000}3 +(10000)7 is equal to

i 10

| 1

1
.
< =

D) 10°

13-PARSK/2-A
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o4 (Tl-g V@t og Y lmum i

iA] 68

(B) 44

i) 56

D} 12

95, T JFaH wEEl, [ARE 5400 @l 0 A W

TR T ol T s W R R R

A 3

(8] 4

[© 5

my 7

96. [10000)% +(10000)7 wwae §

{A] 10
| 1

1

ic) 7

o 10*

i = g




97. I 3+2* =274 + 643, thd value of x s 97. 3+2% =278 L gad F cm o )

Ay 2 A 2
B 3 B 3
<) 1 IS 1
1 1
(D 2 ) 2
98. The value of ru-nn:wsﬁ is DE. {ﬂ-ﬂﬂﬂ?ﬂ& TR
IA) 009 (A} 009
B 08 B 03
©) 003 (C) 003
Dy 03 B o3
99, The sum of 1+3+54+.. 4110 s 99. 1+3+54 . +119F T
{4} 3630 (A} 3630
(B) 3540 B 3540
(€1 3660 (C) 3660
D} 3600 (D) 3600
100, 7507 - 7492 i3 aqual to 100. 7507 - 7492 s &
A} 1499 (A} 1409
(B) 1500 (B) 1500
fC] 1501 {C] 1501
(D} None of the above (D) 7w § # = 7
A
13-PARSK/2-A 43 (P.T.0.
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